MATH 286 PROBLEMS DUE APRIL 4, 2001
(NOTE: TWO PAGES!!)

IGOR KRIZ

1. Rewrite
n__ (37,)2 + et(yl)
T 142
ylll — .’E2 + ez’ — Sin((yl) (y”))

as a system of first order differential equations.

I

2. Find the maximal interval of definition of the solution of

"= lx + L + cos(t)
Y=3 sin(t)y ’
o 1 x4+ ey + Lt

~ cos(t) VT e

1
V=1

v(5) =1,
1
V=0

(3)

3. Calculate
3 4 2 :

1+2 1—7 1+2
2—1 1 1—1

4. Let z = (1+4,1—14,2), y = (1—24,—1+14,0). Calculate the inner
product < z,y >.

5. Find the inverse matrix of

A=

[ S
— = RO
o



6. Solve:
r + 2y + 2z +

T + 2z + 3t



